14. (a) Write 6.43x10° as an ordinary number.
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(b) Work out the value of 2x10"x 8x10 "
- Give your answer in standard form.
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13. (a) Work out the value of (6 x 10%) x (4 x 107)

Give your answer in standard form.,
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{(b) Work out the value of (6 = 10%) + (4 x 107)

Give your answer in standard form,
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19. The surface arca of Earth is 510072 000 km”.
The surface area of Jupiter is 6.21795 x 10" km°.

The surface area of Jupiter is greater than the surface area of Earth
How many times greater?

Give your answer in standard form.
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17. (a) Write 82 500 000 in standard form. -

(b) Work out (5.2 x 10 ") x (2.8 x 10 %)

Giive your answer in standard form.
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18. (a) Write 15 500 in standard form.
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(b) Write 2.48 < 10 ' as an ordinary number.
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(¢) Work out the value of
24 500 + (1.25 x 10°%)
Give your answer in standard form,
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